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obooooobooooooo

D00D000D000D00000000 ¢*00000 sinz00000 cosz 000000000000
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n=0
000D 204 00000000000000000000000000000000000000 ((3.2.2)
000D)0D0000000000000000 ((3.2.2)0000)00000000(3.1.1)0000000
0000000000 * 000000000 (338 0000000000000 0000000000
000000000000 0000000
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D0000D00000000D0000000000000000000000000000000000
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0000000000 D000D000DD000D *000000000000000
kgﬂ+m%:e (3.3.9)
D000D000(3.3.9000000000000000000000 (321)0000000000000
D0000DD0000000D0000000000000000000000000000000000
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googood
0000b00ddbOdsinzUO coszU00O0OO00O0ODO ;00000DO00O00DOODOO
g(x) =cosx +isinx (3.3.10)
O0000o0o0ooo0o 3.21)0o0ooo
g'(x) = —sinz +icosz = i(cosz + isinz) = ig(z) (3.3.11)

0O0ooooo
9(0)=1 (3.3.12)
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00000000000000000000 *000000000000000000
f'(z)=f(z), f(0)=1 (3.3.13)
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gooobooobon '
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000 (3.3.13) 000000 f(2) 00000 f(z1+2) = f(z1)f(2)00000000000000000
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000 A,,A; 000 A, .0 A, 000000000 1000000 ABOOOO

AB = sup{L(D,)|D,, € D} (3.4.2)
gooood
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%
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obobooOobooobooboooobooooooboooog

JH A A > % (1<i<n) (3.4.3)
H;, 1H; < Ai—lAi (1 <1< n) (344)
BH < AB (3.4.5)
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0 3.3: gboogobogood
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Dooooo o
AB < AB (3.4.7)
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00(345)0000000000000000 (347000000000

AB < AB (3.4.8)
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O

V0D 210000000000000000000000000 -

x H t o0 3 t
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00 4.2 (Gauss 00)
/ e dr = /1

— 00

00 VKeRTOODOOK</nOODODOO neZt*0ODOOOO0O0O0O 310000 41000
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n n
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-K n v n v
K .1‘2 " vn 2
= / (1 — ) dr < /nSany1 < / e " dx
K n —yn

K JJ2 n
/ (1 - ) dx < v/nSoy,
K n

2 2\ "
l+z<e* = 1—x—<e*w2/” = <1_ac> ge*””2
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4.5 0O0O0OO

oooobooooo s1boobooboooooooooobooooooOooboo sxbooobooobooo
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goooooo0o0oDooOoooooOoooooOoUobDde,bO0OOO
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ooooooo e, b00000O0ODO00OOOOO
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(1 + ‘T(Z’J))m < lim (1 + ”(x))n = 7@ (4.5.2)
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obooooOoboooboobobooooobonoo

[00000 5.1] Vee ROOD
14+z<e” (4.5.3)
gooogoo
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00000000000000000 23000000000000
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